31
610
THr

ol

Ol

L0
Kl
X0

L|Ct.

k

2 Fg|el B2El
o
=

OoFO
==

i AFEl=
o A2 58

O

171
?
ol
=

ISH|, LSEZH7t

—
§30|

OFM X
10
=22

E

A 83t

ISHl, OF

(A
X

q

A

——
o

OFAM X

o
LL:
3

of

[ =

[

37| H|Of

L

—

ZEA
> 0foRK TIEF= OfF X2 ARZIo] wat A

TS|

1l Kjo or Oiu Ho LH

[0}
r
ohu
ol

=0
< o

4r

OC om0 ~NWOBL SN AN — O

—

o Klo RO LH

[0:]
Hr
i
ol
0
0
3

0o
Hr
ohu
or
0
0
3

"

L|C}

s

=

s}

HOF SfLCt.

O

A2 AR

A
T

Hoz =8

b
Al

2YUNE of

Z10[ OfL|2t ¢
NATIONAL CANCER CENTER

L

—

)

ts

—

HOF SfLCt.

=
S

)

i=)
=

F

of
A LT A2 = S S50

o

il
7HH£|P

HSH=

_i

o

AL S50] 8iCk
A

S50/ U2 1242 28

e}



=
19
0%
r
O
=
1o
1)
==
1]
I
0K
i

[ - |
3. Ojfd TSHl= ofujet 225180 QALtR?
Ofo ZISHS MS 285t 8Y 5218, HAIBOE WH|, 2T/ 7E, B, 55
3147} SiR|= U 50| M2 4 YUBLIT 0213t SAI82 A $ T2 AfRiX|LE X8
49002, HAI8O| LIERIR B O|2AIm Molshie

> tH|7} 42
2, 54, 20| B2 SA0[LF R

=
HRISHH| S HiHS kotFe ofEs odA oz S8

Q. ZISHE Xpp ojou Z=E|X| ohLie?
A. OFdLct

&d 852 = 583t= Ofekd TS S5l = 7ol gl S50 thati ZGsHA| L.

Q. xI25E 3t SRS 27| AR LIS 20| oF E= 7 OfL|0|2?

A. opduct.

SELICE 2 2XS0| LIS S30| &fsiiis W O 0l ALEE 0| iSt & TSNS
S&5IA| 9510 FOFH{ 1 BiL|Ch SHX|2E SF0| MR w 7HX| &2 =0l TSHE =&5h=

5. Atg5tx| e= orekd TISH 7|

A5 E2 Dferd TISHI= 2f=0|Lt 2|2 7|2 22H2f=0]
H|7|SHA|7 | BEELICE,
71S0|LE K| 10fA| Li0f =] 2|2 gEol| ?lekE o~ A2 SE3]

| Z=QISHA|7 | BEELICY.

ol

ol

2YoraE

NATIONAL CANCER CENTER



